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a1 1| 25 ug 3 Mg
O Z d3(248€ 7F)
(=k2 : mm)
7|2t 24T 2474 '24.88

A oA 2o |H[&E(%) Hd 2o H[E(%)| "4 2ol | H[E(%)
o = 10415 9926 93| 3118 4247 1362| 2880 98.6 34.2
=2 1,092.8| 1,038.9 95.1 3%6.7| 5153 1445 3163 1243 39.3
otM M 1,014.1| 11,0025 98.9 320.4 458.7 1432 298.5 106.5 357
=Ss 956.1 889.5 930/ 2647 3174 1199 2522 732 29.0
o 8887 7237 814 2155  250.1 1160 2297 79.4 345
Ej 5+2ZF 994.9 809.3 814 2326/ 2109 90.7| 2403 2.4 385
g & 1,034.1| 1,0229 989| 3027 4920 1626| 2829 62.5 22.1
AmH 9826 1,156.4 1177, 2731 543.8 199.1 2959 101.7 344
Hd 10350 1,052.3 101.7 295.9 439.1 148.4 2734 105.1 384
RN A 1,015.0 9115 89.8 282.4 328.4 116.3 266.5 29.8 37.4
Nz 1,1559| 1,449 99.0 318.5 336.9 105.8 304.9 106.1 348
o 1,076.3 948.9 88.2 287.8 256.7 89.2 275.2 1145 416
Bz 11945 11924 99.8 289.1 3124 108.1 303.5 60.9 20.1

< (BX) 7I4E 6970 BEA V|F, D" e 25080 I a2 27

O 71743 3 AR (2499 ~24119)

T& ZrE g2

'24.098 | HHA(B4.2~202.3mm)EC} EHZF HiA4(202~208C) 2t ==

2410 | EA(37.0~64.3mm)1} H| = HA(139~1477C)2 v X8tALE =5

24 11¢| ZA37.0~55.1mm)1} H| = HHA((7.0~827)2 HZStALL =5




X A al a3
g 2| M 8 X S=24H5
O A B (usgT 71F)
che| @ uigim?)
T Che = HgSReds NI ST SAUSHTX|
o | HIZ o | HIE o | HIE o | HIE
—_r"|_-l o4 01[ L‘j %OH (o/c; O:” Lnj %OH (%) 01[ L‘j %OH (o/o) O:” A %OH (%)

Al | 78823 7,6040 965 12496 12493 1000 2475 2225 899 15763 12353 784
312t | 36165 33330 922 12461 12457 10000 164 160 976 2561 2033 794
<HE2H | 1,860.7) 1,9860 1057 - - - 2163 1775 821 3852 2608 677
22 | 15702 14780 941 - - - - - - 3189 2582 810
Adabzh | 8349 8270 991 35 36 1029 148 290 1959 6161 5132 833

w [BRMle oA, (LSS Faihelai, (3212 A, [Eile Y, SX1Z, MaZ o EXIY oA AlMg 23

- thE A

g g EIE
FA | oA (84 Bbm) (%) << (/%)
T = M = T ue2y
(o) | ELM) | ELmM) | & A | e | m) | owm | 2=
Mg | e
B 12923 7602 59| 58] 3ii

5 [2¥Z | 2703 198| 1846| 2900 1950 67| 62| 426 0 0
o LB = | 6648 145 1288| 2750 | 1,322 48| 56| 260 0 0
- 209 180 | 1752 87 61 700 62 178 0 0

ob = | 1584| 161.7] 1516 | 1,248 797 | 64| 55| 440 54 0
el S| 1,361| 1647| 1514 595 39| 52| 49| 312 0 0
N o 413| 3649| 3583 28 20| 70| 60| 294 1 0

LoLg 3 500 164 | 150.9 181 771 43 54 305 5 0
o |2 ¢ 87.5| 2051 | 1961 49 29| 60| 49| 343 2 0
o | st 82| 1986| 1907 54 37| 69| 52| 308 2 0
S | B2 326 | 2385| 2312 22 15| 66| 48| 407 0 0

g A 925 179 | 1649 790 486 | 62| 56| 477 0 0
ez 2285 46 39.7 309 148 | 48| 42| 121|101 0
oo 9%5.4| 2102| 1957 74 48| 65| 68| 410 0 0

E R 930 | 2655 | 2565 815 549 | 67| 65| 442 15 0
Z o H | 3204 80 71| 1,490 866 | 58| 64| 25 0 0
A MY 763 | 1977|1848 466 208| 45| 48| 494 21 0
| F ot | 1145] 1105] 1047 707 472 67| 62| 295 13 0
o Tt 59 |...438 39.9 50 38| 75| 71| 358 0 0
e 2B 1636] 755 69 117 63| 54| 52| 291 1 0

& s 193] 828 735 191 109 57] 57| 61 2 0
F ) ML HM oM A ESFRANK He32to sl Este ATFEE 70%)
2) FH2 T3 1A Moz AMEHS 3
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- &4
SE=y SR A
7 gA A (B4 Qkme) (%) o4 (m*/=)
T = My | gk T2 uee
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
Heer | Maw = = | as
= A 4449 222.5 50 56 536
ot s 125 672 672.9 13.1 99 76 67 90 0 14.3
z et 29.4 112 109.2 8.7 6.1 70 73 511 0 0
=Rl 235 156.8 149.5 103.2 51.3 50 54 476 0 0
OFA| 6.7 43.9 37 185 | 8.9952 49 60 | 2,136 - 0
Z 3.7 40 39.1 2.6 2 74 57 508 - 0
Lt iy 301.3 145 140.7 160.3 79.6 50 56 581 0 0
; o= 57.5 120 109.4 36.2 11.3 31 41 632 0 0
70 L ALSA 67 60 47.8 30.3 6.9 23 51 804 - 0
= CH et 77 48.5 45 13.1 3.2 25 42 684 - 0
et 1.2 30 26.9 2 1.5 75 80 | 1,006 - 0
X 1.7 48 47.2 52 4 77 65 671 - 0
- 12.7 93 915 10 8.7 87 82 650 - 0
= = 49 64 58.2 31.3 21.1 68 71 745 0 0
A =& 19.9 109.7 109 10.3 7.9 77 65 414 - 0
ML MM A EESTRANK MeSto it ZTTHFEE 70%)
ReEL:
SRR SR gt e
471 | @ (s bm) (%) Zeet | (w/x)
- Akl | 9 mm
(EL.m) (EL.m) = R - REE E R
SR | o =N
ez | mez | BN g | | T
Z A 1,550.00 | 1,249.20 80.6 734 718.8 - -
2 A 175 1741 917.1 7104 77.5 64.7 229.9 235 -
= o 102 1014 139.3 118.2 84.8 84.8 922 32.6 -
_— of ¢ 70.5 70.2 85.7 67 78.2 7.7 255.3 64 -
209 50 49.5 162.7 134.4 82.6 83.3 314 85.3 -
T A 134 129.9 1.5 3.6 315 59 22 0 -
¥ o - 25 230 2121 2.2 927 518 1725 -
MERZ | EMZT 126.9 126.2 56 3.6 64.1 70.2 36.3 52 -




o AF FFA (24998 ~24.119)

(ck2 : m¥/s)
'24.9¢ 24102 04112
T2 RS
ofd | 28 |[bvl8 | od | 23 |68 | od | 28 | HE(%
2| (e gk m) 6,012 4,411 734 2352 2725 1158 1852 2318 125.1
CHE™cH | 3559 1380 388 1523 1328 g72| 1375 1332 9.8
oy | EFE 25 07 26.3 0.9 10| 1064 07 07 943
- sbMcd | 13999 8073 577| 4819 499.7| 1037, 3925 4431 1129
SRS 32 0.9 1.0
CHE™c | 2413 88.6 36.7| 1058 710 67.1 734 66.4 905
e g4 18.8 17.9 94.9 16.1 16.8|  104.1 15.4 16.8|  108.8
aee | - - - - - - - - -
SRS - 12| - = 11 - = 11 -
CHExc | 1832 53.9 29.4 63.3 528 83.4 54.2 528 97.4
25 | BFH | - - - - - - - - -
aEe | - - - - - - - - -
X 5= K| - 3206 - - 1192] - - 846 -
CHE = 9.6 409 424 482 213 442 345 213 61.8
oiatzt | STH 5.0 43 87.0 4.0 48| 1184 37 48| 1300
gh o 16.2 10.6 65.4 58 4.1 70.7 28 27 96.4
X 5= X| - 2058 - - 919/ - - 659 -
« (B2 oMH [HEZie EAZMEls (2212 AnH, [PAZIe oiEZ SR MAIZ 2 ERRIZE 2 AlMe 23
- =AY
(ck2l : m¥/s)
2 '24.9% 24102 04112
=7 ofd | A= |v2@%)| od | A= vg@)| od | A= | 2%
A (8 gkm) 22732 8332 37| 9898 7443 75| 7765 7094 91
Aokt 9.7, 444 49| 550/ 706 128] 570 702 123
sz £ = 259.1 912 35| 948 606 64| 783 606 77
3 A 6.1 23 38 25 16 63 22 24 107
oF = 397, 325 g2| 242 207 8| 222/ 186 84
of 3} 347|133 38| 184  16.1 g7l 105/ 160 152
M oo 1.1 0.8 73 0.4 0.3 80 05 0.3 65
2 9 15 16 104 08 07 85 10 07 73
=z | ZEss 2.1 18 86 1.2 06 50 12 06 52
5 A 05 05 87 06 05 84 0.4 05 130
3 A 27.1 15.0 55| 186| 165 8| 172|162 %
Loz 1300/ 207 16] 393/ 138 3Bl 189 117 62
ol of 45 24 53 23 18 79 17 18 109
- o 2 o 28 167 51 174, 167 %| 174 167 %
- c of = 145.1 339 23| 427 329 771 3441 32.9 %
P F oo 578, 160 28] 348/ 150 43| 259 150 58
see M F 297 206 69 9.4 33 35 49 33 67
B oo} 26 1.0 39 1.1 08 71 0.9 08 86
7| oy 5.4 33 61 32 32 101 27 32 118
B E 6.5 33 51 29 22 76 27 22 80




- g
(ck2 : m¥/s)
2 '24.9¢ '24.10¥ 2411
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 75.773| 63.258 83] 68.335| 93.493 137] 56.353| 60.264 107
I 2 = 14 0.435 31 1.883 462 245 0.559 0.64 114
== 0.506 0.277 55 0.605 1.69 279 0.362 0.34 94
q A 7.453 8.746 117 6.907 8.26 120 6.49 7.63 118
4 = 0.082 0.021 26 0.068 0.13 190 0.065 0.038 46
T = 6.9 4.445 64 5.595 9.76 174 4.019 4.07 101
Al CH = AFd 2.524 4.051 161 2.853 1.85 65 2517 1.85 73
oy et 3.176 1.048 33 2.77 34 123 2.443 2.82 115
o4 = 0.381 0.174 46 0.343 0.47 137 0.253 0.13 51
= A 0.402 0.254 63 0.366 0.7 191 0.313 0.23 74
MRZL = 0 4962 3.707 75 4.496 46 102 3.72 4.47 120
o M2 4 0.506 0.46 91 0.477 0.59 124 0.299 0.29 97
sk
(ck2 : m¥/s)
2l 249 24102 24.11€
T ofd” | A& |HlE@ | od | AHE  HE% | od | HE | HE%)
A 3,670.5] 2,120.0 578 1,306.3] 1,349.4 103.3] 1,024.6| 1,155.5 112.8
=S| 77.0 22.2 28.8 25.1 22.2 88.4 15.5 22.2 143.2
= 104.5 492 471 319 325 101.9 204 29.2 1431
2t of et 183.2 978 534 83.6 105.8 126.6 789 101.0 128.0
Hg 256.5 1754 68.4 103.0 132.9 129.0 93.7 118.6 126.6
| A 25.1 16.7 66.5 6.5 3.2 492 3.8 2.1 55.3
et 753.6 446.0 59.2 231.8 203.1 87.6 180.2 170.0 94.3
MEZE | EMY 16.2 10.6 65.4 58 41 70.7 2.8 2.7 96.4
ol AE 01~23d UM & URTHLMLURTTEURY) HHXR




2 '24.9% 24,102

ofld | e BI2%)| od | A" [88%) od
o oFm?) - 13992 - - 5707 -
He - o112 - - 0119 -
2z - 0056 - - 0058 -
SAH | 0.000 - - 0.000 -
k- | 0.000 - - 0.000 -
uhA| - 0067 - - 00869 -
a5 - 0242 - - 0018 -
stz s o - 0261 - - 0019 -
B - 0427 - - 0045 -
ggt - 0915 - - 0080 -
13t - 0168 - - 0194 -
e - o101 - - 0123 -
s - 0487 - - 0047 -
= - 033 - - 0.149 -
Py, - 0000 - - 0.000 -
3 - 0000 - - 0.000 -
okA4 & 71E - 0000 - - 0.000 -
ol s - 0000 - - 0.000 -
oHE - 0000 - - 0000 -
s - 0093 - - 0093 -
s - 0016 - - 0016 -
2y - 0007 - - 0007 -
k] - 0023 - - 0023 -
(sh) - 002t - - 0021 -
351 -| 0074 - -| 0074 -
352 - 0016 - - 0016 -
chHa - 0050 - - 0050 -
=3 -| 0055 - - 0055 -
Sof - 0018 - - 0018 -
o - 0021 - - 0021 -
e - 0047 - - 0047 -
A - 0044 - - 0044 -
A 4t - 0063 - - 0063 -
Aot - 0036 - - 0036 -
=3 - 0000 - -/ 0000 -
=g -| 0021 - - 0021 -
=X - 0000 - -/ 0000 -
7 - 0034 - - 0034 -
24 -/ 003 - - 0031 -
S0l - 0041 - - 0041 -
29 - 0024 - - 0024 -
So -/ 003 - - 0031 -
24 - 0097 - - 0097 -
3] -| 0073 - -| 0073 -
= - 0036 - - 0036 -
x| g - 0069 - - 0069 -
e - 0013 - - 0009 -
2y -| 0033 - - 0033 -
Z -/ 0028 - -| 0012 -
= - 0018 - - 0.006 -




2 24.9¢ 2410 24114
= ofd | AE || od | AHAZ |H2%)| o | A |6 (%)
VEES 0.048 - - 0017 - - 0010 -
7tel 0.000 - -|0.000 - -| 0.000 —
Fut 0.000 - - 0.000 - - 0000 -
At HE 0.000 - -] 0.000 - - 0000 -
Se ex 0.000 - - 0.000 - -| 0.000 -
R 0.252 0.140 0.140
o= 0.483 - - 0.130 - - 0130 -
x| 2 (ko) 0.298 - - 0.110 - - 0110 -
=X 0.268 ~ - 0.057 - - 0057 -
Alekgl 0.152 - - 0.120 - - 0120 -
2 0.056 ~ - 0010 - - 0010 -
= 0.059 ~ - 0.030 - - 0030 -
= 0.171 - - 0018 - - 0018 -
Fzg 0.357 ~ - 0.030 - - 0030 -
Abz 0.670 - - 0276 - - 0170 -
S 0.123 - - 0015 - - 0015 -
= 0.618 - - 0034 - -l 0.034 -
HH 0.682 - - 0062 - - 0062 -
H| 2 1.602 ~ - 0299 - - 0131 -
CI3= 0.443 - - 0013 - - 0025 -
2t 0.265 — - 0.028 - - 0028 -
uf =1 1.924 - - 0.366 - - 0366 -
o 2l et 0.833 - - 0056 - - 0049 -
== W= 0.019 - - 0019 - - 0019 -
ols 3742 - - 0821 - - 0815 -
AT 0.255 - - 0019 - - 0049 -
SHA| 0.184 - - 0.004 - - 0.004 -
20 0.611 - - 0022 - - 0121 -
& 0.935 - - 0371 - - 0229 -
2 of 0.478 - - 0.008 - - 0008 -
== 0.290 — - 0.004 - - 0004 -
X ot 0.215 - - 0002 - - 0002 -
SH&I 0.207 - - 0.005 - - 0005 -
A} 0.621 - - 0.000 - -| 0.000 -
=2 0.111 - - 0.005 ~ -| 0.005 —
EFx 6.567 — - 0573 - - 1183 -
HE 0.496 - - 0043 - - 0043 -
Al 0513 ~ - 0.031 - - 0031 -
= 0.525 - - 0015 - - 0015 -
=8 1.035 ~ - 0.183 - - 0189 -
2L = 228.000 - -/ 99.500 - -/ 65.400 -
T 0.253 - -1 0.000 - - 0000 -
Alry 0.284 — - 0.000 - -/ 0000 -
AMmH | o SO E) 11.428 - - 1.307 - - 1.847 -
29 1.305 ~ - 0.004 - - 0267 -
AT 48.975 - -1 13.068 - - 11472 -
o= 0.803 - - 0.000 ~ - 0.000 -
e<Eol 1.907 ~ - 0.000 - - 0000 -
2LMsH =X 0.335 - - 0.000 - -| 0.000 -
M 1.009 ~ - 0.000 - - 0000 -
o 5 x| 9.232 - - 1.363 - - 1408 -
Zx 1.636 - - 0580 - -| 0353 -
oAbzt 2 1.246 - - 0442 - - 0269 -
e 2.963 ~ -/ 0.153 - - 0153 -
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2498 24108 24118
A & A =l A &

1.463 0.064 0.064
1.948 0.690 0.420
0.442 0.156 0.095
0.614 0.217 0.132
0.165 0.058 0.035
0.360 0.127 0.077
0.409 0.156 0.088
0.196 0.080 0.047
3.743 1.725 1.050
0.644 0.263 0.157
0.822 0.048 0.048
132.750 30.040 29.860
33.580 43.790 23.850
2.740 6.370 4.960
0.577 0.216 0.110
0.246 0.008 0.008
0.370 0.209 0.105
1.110 0.388 0.230
0.250 0.093 0.047
0.320 0.113 0.069
0.746 0.262 0.152
1.119 1.356 0.026
0.512 0.179 0.106
1.924 0.400 0.400
3.560 1.459 0.851
1.755 1.008 0.588
0.000 0.443 0.443
0.028 0.012 0.008
4.846 0.513 0.513
0.579 0.218 0.134
0.532 0.015 0.015
1.640 0.025 0.466
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O 3 A (248Y 7F)

= 7|2t 244 £ 2478 24 88

C£|{
22 0f 1 x| & ofid | 2o |HlB®) ofd | 2a |ulgOH| old | 25 |HIS%
HF (=R, dstzm) 2077 2701 130| 4328 875 2021 4304 1229 286

HYF (2R, 2edm) 5309| 7086| 1303|1,57820232950| 1476|1,241.40| 5497 443

AT (M7, "™ D) @ 31| 9r2| 1151  143] 1242| 707|197 279

3I_}.

o, | F oy, asm) 124/ 118 93| 407 48 1178 32| 87| 279
M (g8, 220) 207 21| 1012| 733| 945 1288 486 178 b6
o (ym, v 2d D) 2175 2318 1065 6625100150| 1511 693.1| 5123| 739
HEl (oMM, 22m) 103 144 1393| 287 439 19| 272| 101, 371
ol M (25, M=) 1677 131|781 4278 4972 1162 345 727 2170
Fol(es, 28D 1578  173| 1006| 4083| 7133 1756 72| 876| 2520
2 2(=s s2octal) 1808 2075 1003| 5007| 857  162| 4243| 10800| 2550

L}

= | DYEs 1yn) o551 2975 1166|  679/1,10860| 1625 5807| 16230 27.90

N

MR, MEn) 2081 32| 1188| 8007|121050| 1512 7312 1816 248
ghokms, Aual) M8| 4493| 1075|1,12520/ 132540 1178 9677 2612 27
Uokmg, Aztam) 5305 49%4| 986 145290|147500| 1015|131670| 2629 20
SHER, olddm) 52| 68| 1272 1297 2296 177 123|199 162
SFEs 32D 1282| 19834, 1509| 36| 7546| 262| 2765 88 31
o |Roes, YHD) 1564 239 1528| 4054 947 2336| 343] 1101 321
2 gd@s, arm) 217|278 1277 581 14| 1963 403 134 334
MEBA|(ol5H, oitm) M1 596| 1448 1104| 2246 284| 89 3369 429
OfAHA[(ZmA, Bhchal) 7.1 10| 1398 159| 357 2252| 151 71| 466
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7; L F s, yxdm) 56.3 54| b7 1428 1181 87 10| 416 378
o | TdEs a3 R7| 378 1156] R6| 129 17| 918 217 236
g TN, ofMD) 47| 67| 1242 1457| 1528 1049| 961 304 316
¢ Fel=s, axa) 738| 784 1062| 209| 2089 100 180| 461 256
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O ZgoH X
Z50E JE 229
ey Fo A7
TS B E e BN Ed
AT ey dstzgm) 49.3 43.0 394 34.4 24.6 215 14.8 12.9
Shokr (22 motim) 116.6 96.7 955 81.7 80.0 66.7 55.0 55.0
(™2 X™im) 2.6 2.2 2.1 1.7 1.3 1.1 0.8 0.7
SHZ |0 (o™, w8 m) 0.5 0.4 04 0.3 0.2 0.2 0.1 0.1
M (zxdY, 221) 1.5 14 1.2 1.1 0.6 0.6 0.3 0.3
ol (el xl " Em) 14.3 7.9 11.4 6..3 71 3.9 4.3 2.4
HWEl (ot 221) 1.0 0.9 0.8 0.7 0.5 0.5 0.3 0.3
o M=s, AZm) 33.0 29.5 26.0 24.0 15.0 14.0 9.0 8.0
Toj(es, dsm) 36.0 35.0 29.0 28.0 16.0 16.0 10.0 10.0
==y s2orctal) 450 42.0 36.0 34.0 21.0 19.0 13.0 12.0
S 03 =s nym) 48.0 46.5 38.0 37.0 22.0 21.0 14.0 13.0
S EE Mz 55.0 53.0 440 42.0 25.0 24.0 15.0 14.0)
gtok=® Auzl) 67.0 62.0 54.0 50.0 31.0 28.0 18.0 17.0
Lok=r Atzizlim) 73.0 71.0 58.0 57.0 34.0 320 20.0 19.0
SMEs olgim) 11.0 11.0 8.8 8.8 6.2 6.2 4.3 4.3
ST (=R, 220 492 30.0 39.4 24.0 16.2 151 114 10.6
— 2oj(=r, wxm) 50.5 34.0 40.3 27.5 17.8 175 12.5 12.3
=< CH M (2, Al m) 7.5 7.5 6.0 6.0 3.8 3.8 2.3 2.3
ME(o|sx, gatm) 10.5 10.5 8.5 8.5 53 53 3.2 3.9
OfrH=mA, shyctal) 24 2.4 1.9 1.9 1.2 1.2 0.7 0.7
of AFZt A (=8, Zatm) 12.5 8.5 10.0 7.0 55 55 4.0 4.0
LI =%E, Lhxim) 22.5 14.5 16.5 12.0 10.5 10.0 8.0 8.0
FMEE 220) 55 4.5 3.5 3.0 2.0 1.5 1.0 0.8
MEZL B E=s dad) 9.5 8.5 75 6.5 50 4.5 35 3.5
TeH(=28, a™al) 21.0 17.0 15.0 13.5 85 8.0 55 55
o AR #AY] B BT 71zt
= S I E BT
i 277] ESTE]
st 04.01.~09.30. 01.01.~03.31., 10.01.~12.31.
sz 04.15.~10.15. 01.01.~04.14., 10.16.~12.31.
= 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
A MY 05.01.~09.30. 01.01.~04.30., 10.01.~12.31.
« AUNY STEM A e stdof w2t AHES FES AeZE [sHd]2 otMdA, [Hsd]2 At -Efsta
[BZ]e ttuA, [Fad]e ordd, s3Y, MY 2 EXY 95 2o



